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QL. "Systems biology is in the eye of the beholder". Justify this staternent by explaifithg how it is

¥(Co: 1,2) [3]

associated with physiology and other molecular sciences at system lev‘g?‘%‘-
Q2. Discuss the significance of following terms while keepin@’%@g n%ghé reference point of

computational systems and their biological interpretations witﬁuq%é?% example of each:

(a) Stoichiometry Matrix (b) Network Motifs 2%

(c) Electronic Cell (d) Input Functip R;;@'?sr) (CO: 2-4) [2*4=8)
Q3. Elaborate various computational methoc!sé?ﬁv protein—protein interaction analysis,
Discuss phylogenetic profile method for a set of 10 proteins where phylogenetic properties could
be organized in two different groups (4 Qtes respectively). (CO:3,4) [5]
Q4. Realize the importance of wgomputational systems biology. Discuss how XML has

evolved into various specific 1%;1' Rjaages for the analysis of regulatory network data?
Generate SBML code for a%‘iémodel where at least 5 species are involved in a single
compartment and dissoé“iaiz%%%onstant is also playing an important role to catalyze the two
reactions involvedggg?% compartment, (CO: 4-5) [1+2+4=7]

Q5. What ;{s,STLRf ! ;@n which basis it is annotating biological networks? Explain the working
of ST&TN&@ si‘gzp&fe steps. For a set of 100 proteins if you want to analyze based upon 3-4
ﬁé%ggiongflﬁsgnmﬁps then which method will be more appropriate. How you will interpret the
resuf%“%fgr‘tﬁ%se functional groups? (CO: 3-5) [1+1+1+3+1=7)

Q6. Ju;;?fy the role of omics cascade in genotype to phenotype consortium. Highlight the
specific role of signal transduction and metabolic pathways with an example of each to

accomplish this cascade. (CO:2,4,51[5]



